Sitzungsber. Abt. II (1998) 207: 83-94

Sitzungsberichte

Mathematisch-naturwissenschaftliche Klasse Abt. 11 Mathematische, Physikalische und Technische Wissenschaften

© Österreichische Akademie der Wissenschaften 1999 Printed in Austria

A Note on Orthopseudorings and Boolean Quasirings*

By

I. Chajda and G. Eigenthaler

(Vorgelegt in der Sitzung der math.-nat. Klasse am 15. Oktober 1998 durch das w. M. Ludwig Reich)

Abstract

The concept of an *orthopseudoring* was introduced in [2], where it was shown that there is a one-to-one correspondence between orthopseudorings and ortholattices, generalizing the well-known correspondence between Boolean rings and Boolean algebras (see Prop. 1.1 below).

Independently, in [6] other ring-like structures, so called *Boolean quasi*rings were defined, and again a one-to-one correspondence between these structures and ortholattices was established (see Prop. 1.2).

In this paper, we first study connections between orthopseudorings and Boolean quasirings, which are both based on generalizations of symmetric differences (see e.g. [4]). Then we introduce the concept of an ideal and classify those ideals which are congruence kernels. We show that, contrary to rings, an ideal can be the congruence kernel of more than one congruence.

^{*}This paper is a result of the collaboration of the authors within the framework of the "Aktion Österreich-Tschechische Republik" (Grant No. 19p14 "Ordered algebraic structures and applications").

1. Preliminaries

Definition 1.1. An algebra $\mathbf{L} = (L; \lor, \land, 0, 1, \bot)$ of type (2, 2, 0, 0, 1) is called a *bounded lattice with an involutary antiautomorphism* (BLIA) if $(L; \lor, \land, 0, 1)$ is a bounded lattice and the following laws hold:

(a) $(x^{\perp})^{\perp} = x$ (b) $(x \lor y)^{\perp} = x^{\perp} \land y^{\perp}$ (c) $(x \land y)^{\perp} = x^{\perp} \lor y^{\perp}$

A BLIA L is called an ortholattice if the laws

(d) $x \lor x^{\perp} = 1$ and (e) $x \land x^{\perp} = 0$

hold in L. An ortholattice is called an orthomodular lattice if it satisfies

(f) $(x \land y) \lor ((x \land y)^{\perp} \land y) = y.$

Basic facts on ortholattices and orthomodular lattices can be found in [1] and [9].

In the following, we recall some concepts and results of [2] and [6].

Definition 1.2. An algebra $\mathbf{P} = (P; +, 0, 1)$ of type (2, 2, 0, 0) is called an *orthopseudoring* (OPR) if the following laws hold:

$$x + y = y + x \tag{1}$$

$$x + 0 = x \tag{2}$$

$$x(yz) = (xy)z \tag{3}$$

$$xy = yx \tag{4}$$

$$xx = x \tag{5}$$

$$x \quad 0 = 0 \tag{6}$$

$$x \cdot 1 = x \tag{7}$$

$$1 + (1 + xy)(1 + y) = y$$
(8)

$$(1 + x(1 + y))(1 + y(1 + x)) = 1 + (x + y)$$
(9)

$$x + x = 0 \tag{10}$$

$$x + (1 + y) = (x + 1) + y$$
(11)

$$x(1+xy) = x + xy \tag{12}$$

Remark 1.1. In fact, in [2] the law

$$(1 + xy)(1 + y) = 1 + y$$
 (8a)

is used instead of (8), but it is easy to see that both definitions are equivalent: By adding 1 to both sides and using the equations

$$1 + (1 + z) = (1 + 1) + z = 0 + z = z,$$

we see that (8) follows from (8a) and conversely.

The following result was proved in [2]:

Proposition 1.1.

- (i) If $\mathbf{L} = (L; \lor, \land, 0, 1, ^{\perp})$ is an ortholattice, $x + y := (x \land y^{\perp}) \lor (x^{\perp} \land y)$ and $x \cdot y := x \land y$, then $\mathbf{P}(\mathbf{L}) := (L; +, 0, 1)$ is an OPR.
- (ii) If $\mathbf{P} = (P; +, 0, 1)$ is an OPR, $x \lor y := 1 + (1 + x)(1 + y)$, $x \land y := x \lor y$ and $x^{\perp} := 1 + x$, then $\mathbf{L}(\mathbf{P}) := (P; \lor, \land, 0, 1, \bot)$ is an ortholattice.
- (iii) $\mathbf{L}(\mathbf{P}(\mathbf{L})) = \mathbf{L}$ and $\mathbf{P}(\mathbf{L}(\mathbf{P})) = \mathbf{P}$.

Definition 1.3. An Algebra $\mathbf{R} = (R; +, 0, 1)$ of type (2, 2, 0, 0) is called a *generalized Boolean quasiring* (GBQR) if it satisfies (1)–(8) of Definition 1.2. A GBQR is called a *Boolean quasiring* (BQR) if it satisfies (10) and

$$(1 + (1 + x)(1 + y))(1 + xy) = x + y.$$
 (9*)

The following result was proved in [6]:

Proposition 1.2.

- (i) If $\mathbf{L} = (L; \lor, \land, 0, 1, ^{\perp})$ is a BLIA, $x + y := (x \lor y) \land (x \land y)^{\perp}$ and $x \cdot y := x \land y$, then $\mathbf{R}(\mathbf{L}) := (L; +, 0, 1)$ is a GBQR with (9^*) .
- (ii) If $\mathbf{R} = (R; +, 0, 1)$ is a GBQR, $x \lor y := 1 + (1 + x)(1 + y)$, $x \land y := x \ y \text{ and } x^{\perp} := 1 + x$, then $\mathbf{L}(\mathbf{R}) := (R; \lor, \land, 0, 1, ^{\perp})$ is a BLIA.
- (iii) If **L** is a BLIA and **R** a GBQR with (9^*) , then $\mathbf{L}(\mathbf{R}(\mathbf{L})) = \mathbf{L}$ and $\mathbf{R}(\mathbf{L}(\mathbf{R})) = \mathbf{R}$.
- (iv) \mathbf{L} is an ortholattice if and only if $\mathbf{R}(\mathbf{L})$ is a BQR.

Remark 1.2. If **L** is an orthomodular lattice, then P(L) = R(L) if and only if **L** is a Boolean algebra (see e.g. [4], Theorem 3.7). So if **L** is any orthomodular lattice which is not Boolean, then $P(L) \neq R(L)$, and hence P(L) is *not* a BQR: If P(L) would be a BQR, then by Prop. 1.1 and 1.2 we would have P(L) = R(L(P(L))) = R(L), a contradiction. Similarly, in this case R(L) is *not* an OPR.

Properties of GBQR's which are of interest in axiomatic quantum mechanics are studied in [5] and [7].

2. The Correspondence between OPR's and BQR's

Lemma 2.1. Every GBOR satisfies the equation

$$1 + (1 + x) = x. (13)$$

Proof: Put x = y in (8) and use (5): x = 1 + (1 + xx)(1 + x) =1 + (1 + x). П

Lemma 2.2.

(i) Every GBOR with (9) satisfies (11).

(ii) Every GBOR with (9^{*}) satisfies (11).

Proof:

- (i) If we put 1 + x instead of x in (9) and use (13), we obtain: (1 + x)(1 + x)(1 + y)(1 + yx) = 1 + ((1 + x) + y), and for 1 + y instead of y we obtain: (1 + xy)(1 + (1 + y)(1 + x)) = 1 + (x + (1 + y)).By (4), the expressions on the left sides are equal, hence 1+ ((1 + x) + y) = 1 + (x + (1 + y)). By using (13) and (1) we get (11). (ii) The proof is similar to that of (i).

Lemma 2.3.

(1) Every GBOR with (9) and (10) satisfies (12) and

$$x(1+x) = 0. (14)$$

(ii) Every BOR satisfies (12) and (14).

Proof:

- (i) By (5), (9) (with x = y) and (10) we have: 1 + x(1 + x) = x(1 + x)(1 + x(1 + x))(1 + x(1 + x)) = 1 + (x + x) = 1 + 0, hence by (13) x(1+x) = 0. In (9) put xy instead of y, then (1 + x(1 + xy))(1 + (xy)(1 + x)) = 1 + (x + xy). By (3), (4) and (14) we have (xy)(1+x) = 0, hence by (2) and (7) 1 + x(1 + xy) = 1 + (x + xy), and by using (13) we get (12).
- (ii) By (13), (5), (9^{*}) (with x = y) and (10) we have: x(1 + x) = y(1+(1+x))(1+x) = (1+(1+x)(1+x))(1+xx) = x + x = 0.In (9^{*}) put xy instead of y, then (1 + (1 + x)(1 + xy))(1 + x(xy)) = x + xy. By (3) and (5) x(xy) = xy, and by (4) and (8) 1 + (1 + x)(1 + xy) = x, which yields (12).

From Lemma 2.1–2.3 we get:

Theorem 2.1.

(i) \mathbf{P} is an OPR if and only if \mathbf{P} is a GBOR with (9) and (10).

(ii) Every BOR satisfies (11) and (12).

If $\mathbf{L} = (L; \lor, \land, 0, 1, ^{\perp})$ is an ortholattice, $\mathbf{P}(\mathbf{L}) = (L; +, \cdot, 0, 1)$ and $\mathbf{R}(\mathbf{L}) = (L; \oplus, \cdot, 0, 1)$, then we have $x \oplus y = (x \lor y) \land (x \land y)^{\perp} = ((x \land (y^{\perp})^{\perp}) \lor (x^{\perp} \land y^{\perp}))^{\perp} = (x + y^{\perp})^{\perp}$, i.e. $x \oplus y = 1 + (x + (1 + y))$. In the following we give a generalization of this fact.

We define, for any algebra $\mathbf{P} = (P; +, 0, 1)$ of type (2, 2, 0, 0), $\mathbf{Q}(\mathbf{P}) := (P; \oplus, 0, 1)$ where $x \oplus y := 1 + (x + (1 + y))$, and $\mathbf{L}(\mathbf{P}) := (L; \lor, \land, 0, 1, ^{\perp})$ where $x \lor y := 1 + (1 + x)(1 + y)$, $x \land y := x$ y and $x^{\perp} := 1 + x$.

Theorem 2.2.

- (i) If **P** is a GBQR, then $\mathbf{Q}(\mathbf{Q}(\mathbf{P})) = \mathbf{P}$ and $\mathbf{L}(\mathbf{Q}(\mathbf{P})) = \mathbf{L}(\mathbf{P})$.
- (ii) **P** is a GBQR with (11) if and only if $\mathbf{Q}(\mathbf{P})$ is a GBQR with (11).
- (iii) **P** is a GBQR with (9) if and only if $\mathbf{Q}(\mathbf{P})$ is a GBQR with (9^{*}).
- (iv) \mathbf{P} is an OPR if and only if $\mathbf{Q}(\mathbf{P})$ is a BQR.

(v) **P** is an OPR with

$$(x + xy) + xy = x \tag{15}$$

if and only if $\mathbf{Q}(\mathbf{P})$ is a BQR with

$$(1 \oplus xy) \oplus (x \oplus xy) = 1 \oplus x. \tag{15*}$$

(vi) **P** is an OPR with

$$x(1+y) = x + xy \tag{16}$$

if and only if $\mathbf{Q}(\mathbf{P})$ is a BQR with (16).

- (vii) **P** is a Boolean ring if and only if $\mathbf{Q}(\mathbf{P})$ is a Boolean ring. In particular, the operator \mathbf{Q} defines a one-to-one correspondence between
 - GBQR's with (9) and GBQR's with (9^{*}),
 - OPR's and BQR's,
 - OPR's with (15) and BQR's with (15*).

Proof:

(i) First of all, we notice that by (13) we have

$$1 \oplus y = 1 + y \quad \text{for all} \quad y \in \mathbb{R}. \tag{13a}$$

From this follows immediately that $\mathbf{L}(\mathbf{Q}(\mathbf{P})) = \mathbf{L}(\mathbf{P})$. If we put $\mathbf{Q}(\mathbf{Q}(\mathbf{P})) = (P; +, \cdot, 0, 1)$, then we have (by using (13a) and (13)): $x + y = 1 \oplus (x \oplus (1 \oplus y)) = 1 + (x \oplus (1 + y)) = 1 + (1 + (x + (1 + (1 + y)))) = 1 + (1 + (x + y)) = x + y$, which shows $\mathbf{Q}(\mathbf{Q}(\mathbf{P})) = \mathbf{P}$. (ii) Let **P** be a GBQR with (11), then we have $x \oplus y = 1 + (x + (1 + y)) = 1 + ((x + 1) + y) = 1 + (y + (1 + x)) = y \oplus x$, $x \oplus 0 = 1 + (x + (1 + 0)) = 1 + (x + 1) = 1 + (1 + x) = x$, hence **Q**(**P**) satisfies (1) and (2).

(3)-(7) for $\mathbf{Q}(\mathbf{P})$ are trivial, since \cdot , 0 and 1 are the same as in \mathbf{P} . From (13a) we immediately get that $\mathbf{Q}(\mathbf{P})$ satisfies (8), thus $\mathbf{Q}(\mathbf{P})$ is a GBQR. Furthermore, we have by (13a) and (13): $x \oplus (1 \oplus y) = x \oplus (1 + y) = 1 + (x + (1 + (1 + y))) = 1 + (x + y)$, and by (1) we get: $(x \oplus 1) \oplus y = y \oplus (1 \oplus x) = 1 + (y + x) = 1 + (x + y)$, which proves (11), thus $\mathbf{Q}(\mathbf{P})$ is a GBQR with (11). Conversely, if $\mathbf{Q}(\mathbf{P})$ is a GBQR with (11), $\mathbf{Q}(\mathbf{Q}(\mathbf{P})) = \mathbf{P}$ is a GBQR with (11).

(iii) Let P be a GBQR with (9), then by (ii) and Lemma 2.2 Q(P) is a GBQR with (11). If we put 1 + y instead of y in (9), we obtain by using (13) and (4):

$$(1 + (1 + x)(1 + y))(1 + xy) = 1 + (x + (1 + y)).$$
(9a)

By (13a) this implies: $(1 \oplus (1 \oplus x)(1 \oplus y))(1 \oplus xy) = (1 + (1 + x)(1 + y))(1 + xy) = x \oplus y$, i.e. (9^*) . Let **Q**(**P**) be a GBQR with (9^*) , then by (13a) $(1 + (1 + x)(1 + y))(1 + xy) = (1 \oplus (1 \oplus x)(1 \oplus y))(1 \oplus xy) = x \oplus y = 1 + (x + (1 + y))$, i.e. (9a) holds. If we put 1 + y instead of y in (9) and use (13) and (4), we obtain (9).

- (iv) This follows already from Prop. 1.1 and 1.2, but in this context we give a direct proof, since by (iii) it remains only to show that **P** satisfies (10) if and only if **Q**(**P**) does. First we observe that by (13a) **P** satisfies (14) if and only if **Q**(**P**) does. Now suppose that **P** is an OPR, put x = y in the equation (9^*) and use (5), (13a), (13) and (14), then $x \oplus x = (1 \oplus (1 \oplus x)(1 \oplus x))(1 \oplus xx) = (1 + (1 + x))(1 + x) = x(1 + x) = 0$. Similarly, if **Q**(**P**) is a BQR and we put x = y in (9), then by using (5) and (14) 1 + (x + x) = (1 + x(1 + x))(1 + x(1 + x)) = 1 + x(1 + x) = 1 + 0, hence by (13) x + x = 0.
- (v) This also follows already from results in [2] and [6]: In [2] it was shown that **P** satisfies (15) if and only if L(P) is orthomodular, and in [6] it was shown that Q(P) satisfies (15^{*}) if and only if L(Q(P)) is orthomodular. Nevertheless, in this context a direct proof is of some interest. First we observe that by using (12) and (13a)

$$x \oplus xy = x(1 \oplus xy) = x(1 + xy) = x + xy.$$
(12a)

Now let us start with an OPR with (15), then by (12a), (13a), (1) and (13) $(1 \oplus xy) \oplus (x \oplus xy) = (1 + xy) \oplus (x + xy) = (x + xy) \oplus (1 + xy) = 1 + ((x + xy) + (1 + (1 + xy))) = 1 + ((x + xy))$ (12a), (1) and (13) $(x + xy) + xy = (x \oplus xy) + xy = 1 \oplus ((x \oplus xy) \oplus (1 \oplus xy)) = 1 \oplus (1 \oplus x) = x.$

- (vi) This follows immediately from (13a) and (12a).
- (vii) If **R** is a Boolean ring, then $\mathbf{Q}(\mathbf{R}) = \mathbf{R}$, and the same holds if $\mathbf{Q}(\mathbf{R})$ is a Boolean ring.

Corollary 2.1. The operators L and P define a one-to-one correspondence between GBQR's with (9) and BLIA's.

Proof: By Prop. 1.2 and Theorem 2.2, all we have to show is that

$$\mathbf{Q}(\mathbf{R}(\mathbf{L})) = \mathbf{P}(\mathbf{L}) \tag{(*)}$$

for every BLIA **L**. Let $\mathbf{P}(\mathbf{L}) = (L; +, \cdot, 0, 1), \mathbf{R}(\mathbf{L}) = (L; \oplus, \cdot, 0, 1)$ and $\mathbf{Q}(\mathbf{R}(\mathbf{L})) = (L; \hat{+}, 0, 1)$, then by (a)–(c) $x + y = 1 \oplus (x \oplus (1 \oplus y)) = (x \oplus y^{\perp})^{\perp} = (x \vee y^{\perp}) \land (x \land y^{\perp})^{\perp} = (x \vee y^{\perp}) \land (x^{\perp} \vee y) = x + y$, which proves our claim.

Remark 2.1. By (i) of Theorem 2.2 we have also:

$$\mathbf{R}(\mathbf{L}) = \mathbf{Q}(\mathbf{P}(\mathbf{L})) \tag{**}$$

for any BLIA.

Remark 2.2. As was pointed out by H. Länger (see also [10]), one can show that in any OPR (15) is equivalent to (15^*) , and the same holds for any BQR.

In the following, we want to give conditions for an OPR (resp. BQR) to be a Boolean ring.

Lemma 2.4. Let **P** be a GBQR, then $\mathbf{Q}(\mathbf{P}) = \mathbf{P}$ if and only if

$$1 + (x + y) = (1 + x) + y$$
(17)

holds in **P**.

Proof: $x \oplus y = x + y$ if and only if 1 + (x + (1 + y)) = x + y. By (13), this is equivalent to x + (1 + y) = 1 + (x + y) which by (1) is equivalent to 1 + (y + x) = (1 + y) + x.

Lemma 2.5. Let **P** be a GBQR with (9), then $\mathbf{Q}(\mathbf{P}) = \mathbf{P}$ if and only if $\mathbf{R}(\mathbf{L}(\mathbf{P})) = \mathbf{P}$.

Proof: First we observe that $\mathbf{P} = \mathbf{P}(\mathbf{L}(\mathbf{P}))$, by Corollary 2.1. Now suppose that $\mathbf{Q}(\mathbf{P}) = \mathbf{P}$, then by (**) we obtain $\mathbf{P} = \mathbf{Q}(\mathbf{P}(\mathbf{L}(\mathbf{P}))) = \mathbf{R}(\mathbf{L}(\mathbf{P}))$. If conversely $\mathbf{R}(\mathbf{L}(\mathbf{P})) = \mathbf{P}$, then by (*) $\mathbf{Q}(\mathbf{P}) = \mathbf{Q}(\mathbf{R}(\mathbf{L}(\mathbf{P}))) = \mathbf{P}(\mathbf{L}(\mathbf{P})) = \mathbf{P}$.

Lemma 2.6. Let \mathbf{P} be a GBQR with (9) and (9^{*}), then (17) holds in \mathbf{P} .

Proof: If we put 1 + x instead of x in (9*) and use (13), we get (1 + x(1 + y))(1 + (1 + x)y) = (1 + x) + y, hence by (4) and (9) we get (17).

Lemma 2.7. Let **P** be a GBQR with (17), then we have:

- (i) **P** satisfies (9) if and only if **P** satisfies (9^*) .
- (ii) \mathbf{P} is an OPR if and only if \mathbf{P} is a BQR.
- (iii) **P** is an OPR with (15) if and only if **P** is a BQR with (15^*) .

Proof: Follows from Lemma 2.4 and Theorem 2.2.

Theorem 2.3. The following are equivalent for $\mathbf{P} = (P; +, 0, 1)$

- (i) \mathbf{P} is an OPR with (15) and (17).
- (ii) **P** is a BQR with (15^*) and (17).
- (iii) **P** is a Boolean ring.
- (iv) \mathbf{P} is a BQR with (16).
- (v) \mathbf{P} is an OPR with (16).

Proof: By Lemma 2.7, (i) is equivalent to (ii). Next we show that (i) is equivalent to (iii). We consider $\mathbf{L}(\mathbf{P}) = (P; \lor, \land, 0, 1,^{\perp})$, then (iii) holds if and only if $\mathbf{L}(\mathbf{P})$ is a Boolean algebra. By [2] and Lemma 2.4, (i) holds if and only if $\mathbf{L}(\mathbf{P})$ is an orthomodular lattice and $\mathbf{Q}(\mathbf{P}) = \mathbf{P}$, and by Lemma 5 this holds if and only if $\mathbf{L}(\mathbf{P})$. As mentioned in Remark 1.2, this is equivalent to the property that $\mathbf{L}(\mathbf{P})$ is a Boolean algebra. (iii) is equivalent to (iv) by a result of [6]. By Theorem 2.2, (vi) and the fact that $\mathbf{Q}(\mathbf{P}) = \mathbf{P}$ for a Boolean ring \mathbf{P} , we obtain that (iv) is equivalent to (v).

Remark 2.3. According to Remark 2.2, one can replace (15) by (15^{*}) and (15^{*}) by (15) in (i) and (ii) of Theorem 2.3.

3. Compatible Ideals in OPR's and BQR's

Definition 3.1. Let $\mathbf{P} = (P; +, \cdot, 0, 1)$ be a GBQR and $\phi \neq I \subseteq P$.

- (a) I is called an *ideal* of **P** if, for any a, b ∈ I and x ∈ P, we have
 (i) a + b ∈ I, and
 (ii) ax ∈ I.
- (b) The subset *I* is called *compatible* if for every unary polynomial function *p* over **P** and *a*₁, *a*₂, *a*₃ ∈ *I*, we have

(iii) $(1 + (1 + a_1) p(a_2)) p(a_3) \in I$. Let us recall that a *unary polynomial function* p on \mathbf{P} is a function $p \to P$ such that there exist an (n + 1)-ary term t over \mathbf{P} (where n is a non-negative integer) and elements $x_1, \dots, x_n \in P$ with $p(x) = t(x, x_1, \dots, x_n)$ for all $x \in P$.

(c) I is called a congruence kernel of **P** if there exists a congruence Θ on **P** with $I = [0]\Theta$, the class of 0 with respect to Θ .

Remark 3.1. The element 0 is contained in every ideal (put x = 0 in (ii) and use (6)) and in every compatible subset (put p(x) = 0 in (iii) and use (6)).

Lemma 3.1. Let \mathbf{P} be a GBQR with (14), then every compatible subset of \mathbf{P} is an ideal of \mathbf{P} .

Proof. In (b), take n = 1, t(x, y) = x + y, then for all $a_1, a_2, a_3 \in I$ and $x_1 \in P$ we have

(iv) $(1 + (1 + a_1)(a_2 + x_1))(a_3 + x_1) \in I.$

By taking $x_1 = a_1$ and $a_2 = 0$ we get $(1 + (1 + a_1)a_1)(a_3 + a_1) \in I$. By (14) we have $(1 + a_1)a_1 = 0$, which yields $a_3 + a_1 \in I$. If we take n = 1and t(x, y) = x y in (b), then for all $a_1, a_2, a_3 \in I$ and $x_1 \in P$ we have (v) $(1 + (1 + a_1)(a_2x_1))(a_3x_1) \in I$,

and taking $a_2 = 0$ we get $a_3 x_1 \in I$.

Lemma 3.2. Let \mathbf{P} be GBQR and I a congruence kernel of \mathbf{P} , then the following holds:

- (i) I is an ideal of **P**.
- (ii) If **P** satisfies (14), then I is compatible.

Proof:

- (i) Let $I = [0]\Theta$, $a, b \in I$ and $x \in P$, then $a\Theta 0, b\Theta 0$, and $x\Theta x$, hence $a + b\Theta 0 + 0 = 0$ and $a \cdot x\Theta 0 \cdot x = 0$, thus $a + b, ax \in I$.
- (ii) Let *n* be a non-negative integer, *t* an (n + 1)-ary term of **P**, $x_1, \ldots, x_n \in P$ and $a_1, a_2, a_3 \in I$, then $a_i \Theta 0$ implies $(1 + (1 + a_1) t(a_2, x_1, \ldots, x_n))t(a_3, x_1, \ldots, x_n)\Theta(1 + (1 + 0)t(0, x_1, \ldots, x_n))t(0, x_1, \ldots, x_n) = (1 + t(0, x_1, \ldots, x_n))t(0, x_1, \ldots, x_n) = 0$, by (14). Thus (iii) holds.

For the proof of our next result, we need the following well known theorem of Mal'cev (sec [11]):

Proposition 3.1. Let $\mathbf{A} = (\mathcal{A}; F)$ be an algebra and $\phi \neq I \subseteq \mathcal{A}$. Then *I* is a class of some congruence on \mathbf{A} if and only if for every unary polynomial function *p* on \mathbf{A} we have: $a, b, p(a) \in I$ implies $p(b) \in I$.

Lemma 3.3. If \mathbf{P} is a GBQR with (14) and I a compatible ideal of \mathbf{P} , then I is a congruence kernel on \mathbf{P} .

Proof: By Remark 3.1, $0 \in I$. So let p be a unary polynomial function on **P**. By Prop. 3.1, we have to show: $a, b, p(a) \in I$ implies $p(b) \in I$.

We apply (iii) of Def. 3.1 for $a_1 = p(a), a_2 = a$ and $a_3 = b$, then $(1 + (1 + p(a)) p(a)) p(b) \in I$. By (14), we have (1 + p(a)) p(a) = 0, which yields $p(b) \in I$.

Theorem 3.1. Let **P** be a GBQR with (14) and $\phi \neq I \subseteq P$, then I is a congruence kernel of **P** if and only if. I is a compatible ideal of **P**.

By Lemma 2.3 and Theorem 2.1 we get

Corollary 3.1. Let **P** be an OPR or a BQR and $\phi \neq I \subseteq P$, then I is a congruence kernel of **P** if and only if I is a compatible ideal of **P**.

Theorem 3.2. Let **P** be a GBQR with (14), Θ a congruence on **P**. I the class of 0 and C any class with respect to Θ . Then $a \in I$ if and only if there exists an element $c \in C$ with ac = 0 and $1 + (1 + a)(1 + c) \in C$. In particular, I is uniquely determined by C.

Proof:

Let $a \in P$ such that there exists an element $c \in C$ with ac = 0 and $d := 1 + (1 + a)(1 + c) \in C$. From $c\Theta d$ we obtain $0 = ac \Theta ad$, i.e. $ad \in I$. We have ad = a(1 + (1 + a)(1 + c)). From (8) with 1 + y instead of y and (13) we get 1 + (1 + x(1 + y))y = 1 + y. Using (13) again, we get (1 + x(1 + y))y = y. Putting x = 1 + c and y = a and using (4), we have $ad = a \in I$.

Conversely, let $a \in I$, i.e. $a \Theta 0$. Then we obtain $(1 + a)b\Theta(1 + 0)b = b$ and $1 + (1 + (1 + a)b)(1 + a)\Theta 1 + (1 + (1 + 0)b)(1 + 0) = 1 + (1 + b) = b$ for all $b \in P$. So if $b \in C$, then $c := (1 + a)b \in C$ and $1 + (1 + a)(1 + c) = 1 + (1 + (1 + a)b)(1 + a) \in C$, too. Moreover ac = a((1 + a)b) = (a(1 + a))b = 0 b = 0.

Corollary 3.2. Let **P** be a GBQR with (14), Θ a congruence on **P** and suppose that Θ has a one-element class, then $[0]\Theta = \{0\}$.

Proof: Suppose that $C = \{c\}$ is a class of Θ , then by Theorem 3.3 $a \in [0]\Theta$ if and only if ac = 0 and 1 + (1 + a)(1 + c) = c. As in the first part of the

proof of Theorem 3.3, we obtain a(1 + (1 + a)(1 + c)) = a, thus we have a = ac = 0.

The following example shows that a compatible ideal can be the congruence kernel of more than one congruence:



Example. Let **L** be the ortholattice defined by the diagram above and $\mathbf{P} = \mathbf{P}(\mathbf{L})$ the corresponding OPR. The partition $\{0\}$, $\{x,y\}$, $\{x^{\perp},y^{\perp}\}$, $\{1\}$ defines a congruence Θ_1 on **L** which of course is a congruence on **P**, too. Let Θ_2 be the identity congruence on **P**, then $\Theta_1 \neq \Theta_2$ and $[0]\Theta_1 = \{0\} = [0]\Theta_2$. Furthermore, this example shows that some congruence classes can be singletons, but others not.

Remark 3.2. If **L** is an orthomodular lattice, such situations as in the preceding example cannot happen since every orthomodular lattice is congruence regular (i.e., every congruence class uniquely determines the whole congruence) and congruence uniform (i.e., all classes of a congruence have the same cardinality) (see [3] and [8]).

References

- [1] Beran, L.: Orthomodular lattices, algebraic approach. Academia Praha, 1984.
- [2] Chajda, I.: Pseudosemirings induced by ortholattices. Czech. Math. J. 46, 405–411 (1996).
- [3] Dorfer, G.: Some properties of congruence relations on orthomodular lattices. Preprint 1998.
- [4] Dorfer, G., Dvurečenskij, A., Länger, H.: Symmetric difference in orthomodular lattices. Math. Slov. 46, 435–444 (1996).
- [5] Dorninger, D.: Sublogics of ring-like quantum logics. Tatra Mt. Math. Publ. 15, 75– 83 (1998).
- [6] Dorninger, D., Länger, H., Maczyński, M.: The logic induced by a system of homomorphisms and its various algebraic characterizations. Demonstr. Math. 30, 215–232 (1997).
- [7] Dorninger, D., Länger, H., Maczyński, M.: On ring-like structures occurring in axiomatic quantum mechanics. Sitzungsberichte Österr. Akad. d.Wiss., Math.-naturw. Kl., Abt. II. 206, 279–289 (1997).

- [8] Hashimoto, J.: Congruence relations and congruence classes in lattices. Osaka Math. J. 15, 71–86 (1963).
- [9] Kalmbach, G.: Orthomodular lattices. London New York: Academic Press, 1983.
- [10] Länger, H.: Generalizations of the correspondence between Boolean algebras and Boolean rings to orthomodular lattices. Tatra Mt. Math. Publ. 15, 97–105 (1998).
- [11] Mal'cev, A. I.: On the general theory of algebraic systems (Russian). Mat. Sb. 35, 3-20 (1954).

Authors' addresses: G. Eigenthaler, Technische Universität Wien, Institut für Algebra, Wiedner Hauptstraße 8-10, A-1040 Wien, Austria; I. Chajda, Palacký University Olomouc, Dept. of Algebra and Geometry, Tomkova 40, 77900 Olomouc, Czech Republic.

ZOBODAT - www.zobodat.at

Zoologisch-Botanische Datenbank/Zoological-Botanical Database

Digitale Literatur/Digital Literature

Zeitschrift/Journal: <u>Sitzungsberichte der Akademie der Wissenschaften</u> mathematisch-naturwissenschaftliche Klasse

Jahr/Year: 1998

Band/Volume: 207_2

Autor(en)/Author(s): Chajda I., Eigenthaler G.

Artikel/Article: <u>A Note on Orthopseudorings and Boolean Quasirings. 83-94</u>